VC.192 p

ELESA & @] 3% it
% = 4l

- BB (PR)RE M Bk, WAL Mok, e R F A
- RE: TEE, WAENTE.

RERTRIER, TR, HHUNRIATISO4753A %,

- A UNIB9BT-714L 2

&
18
[l

|10
RO + R+t g |mm DN
| ReED # 2 o TG e ==
' N 66121 | \VC.192125 p-M5x10 M5 10 | 11
! — [ 66122 | VC.192125 pM5x16 M5 16 | 12
i} 66131 | \VC.192/25 p-MBX10 M6 10 | 10
B + 5| o] [ 1\ 8132 Vo195 pexie 26 21 15 9 s 16 | 12
i L — 66133 | VC.192/25 p-M6X20 M6 20 | 14
. __ 66134 | VC.192/25 p-M6X30 M6 30 | 18
0.3 — 66231 | VC.192/30 p-MBX10 M6 10 | 17
| I 66232 | VC.192/30 p-M6X16 M6 16 | 18
66233 | VC.192/30 p-M6X20 M6 20 | 20
D 2 66234 | VC.192/30pM6x35 | 32 23 19 11 | M6 35 | 25
- = 66241 | VC.192/30 p-M8&x20 M8 20 | 24
] 66242 | \VC.192/30 p-MEx30 M8 30 | 27
- — — 66243 | VIC.192/30 p-MBX40 M8 40 | 29
66351 | \/C.192/40 p-M6X10 M6 10 | 28
66352 | VC.192/40 p-M6X20 M6 20 | 30
66353 | VC.192/40 p-M6X30 M6 30 | 32
66361 | VC19240pMex16 | 40 27 21 12 | M8 16 | 35
66362 | \/C.192/40 p-Mex25 M8 25 | 38
66363 | \/C.192/40 p-Mex35 M8 35 | 40
66364 | \/C.192/40 p-Mex45 M8 45 | 43
66481 | \V/C.192/50 p-M8x16 M8 16 | 52
66482 | \VC.192/50 p-M8x20 M8 20 | 53
66483 | \/C.192/50 p-M8x25 M8 25 | 55
66484 | \/C.192/50 p-M8x30 M8 30 | 56
66485 | VC192/50 pM8x40 | 50 33 25 14 | M8 40 | 60
66491 | VC.192/50 p-M10x20 M10 20 | 63
66492 | VC.192/50 p-M10x30 M10 30 | 66
66493 | VC.192/50 p-M10x40 M10 40 | 70
66494 | \/C.192/50 p-M10x50 M10 50 | 73
66561 | \/C.192/60 p-M10x20 M10 20 | 87
66562 | \V/C.192/60 p-M10x30 M10 30 | 92
66563 | VC.192/60 p-M10x40 M10 40 | 98
66564 | VC.19260 pMIOXEO | o o0 oo .- |M10 50 | 101
66571 | \VC.192/60 p-M12x25 M12 25 | 105
66572 | \VC.192/60 p-M12x30 M12 30 | 110
66573 | \VC.192/60 p-M12x40 M12 40 | 118
66574 | VC.192/60 p-M12x50 M12 50 | 128
66651 | \VC.192/70 p-M12x30 M12 30 | 140
66652 | \VC.192/70 p-M12x50 M12 50 | 160
66653 [ VCAG0 pMIZEO | -0 0 a9 oo |M12 60 | 165
66654 | \/C.192/70 p-M12x70 M12 70 | 175
66661 | \V/C.192/70 p-M14x50 M14 50 | 180
66662 | \V/C.192/70 p-M14x70 M14 70 | 200
66731 | VC192i85 pM16x50 | 85 55 35 30 |M16 50 | 290

“‘ELESA" and "GANTERGRIFF" models all rights reserved in accordance with the law. Always mention the source
when reproducing our drawings.

‘€lesa-BANTIR )




